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UNIVERSITY OF NORTH BENGAL 

B.A. Programme 5th Semester Examination, 2021  

DSE1/2-P1-NEPALI 

Time Allotted: 2 Hours Full Marks: 60 
The figures in the margin indicate full marks. 

 

 The question paper contains DSE-1A and DSE-1B.
The candidates are required to answer any one from two Courses.  

Candidates should mention it clearly on the Answer Book. 

 DSE-1A 

 usikyh lkfgfR;d i=dkfjrk 

 [k.M-d 

1. rydk dquS pkjoVk iz”udk mÙkj ys[uqgksl~A 3×4 = 12
(d) lkfgfR;d i=dkfjrk HkUukys dLrks i=dkfjrk cqf>UN \ Li’V ikuZqgksl~A 
([k) *xks[ksZ [kcj dkxr* if=dk dldks lEiknuek dgk¡ckV j dfgys izdkf”kr Hk,dks gks \  
(x) *[kksth* if=dkdks izdk”ku dky dfgys gks \ ;ldk ifgyks lEiknd dks gqu~ \  
(?k) *uscqyk*-dks vFkZ ds gks \ ;ks dqu Bkm¡CkkV izdkf”kr if=dk gks \  
(³) *Hkkjrh* if=dk dfgys j dgk¡ckV Nkfi,dks fFk;ks \ ;ldks lEiknddks uke ifu 

ys[uqgksl~A 
 

(p) xq#izlkn eSukyhdks *uklks* dFkk dqu lkyek vfu dqu if=dkek izdkf”kr Hk,dks fFk;ks \  
   

 [k.M-[k 

2. rydk dquS pkjoVk iz”ug:dks leh{kkRed fVIi.kh ys[uqgksl~A 6×4 = 24
(d) *xks[kkZ* if=dkdks lkfgfR;d egÙoA 
([k) *fn;kyks if=dkdks lkfgfR;d ;ksxnkuA  
(x) usikyh i=-if=dkdks izdk”kuek cukjlA  
(?k) *xks[ksZ [kcj dkxr*dks ,sfrgkfld egÙoA  
(³) usikyh dforkdks fodklek *pfUnzdk* dks ;ksxnkuA  
(p) *uscqyk* if=dkdks izdk”ku j ;ldks mn~ns”;A  

   

 [k.M-x 

3. rydk dquS nqbZoVk iz”udks mÙkj ys[uqgksl~A 12×2 = 24
(d) usikyh lkfgR;dks fodklek *”kkjnk* if=dkdks ;ksxnkuckjs ppkZ xuZqgksl~A 
([k) usikyh lkfgR;dks fodklek **pfUnzdk* ] *lqUnjh* j *ek/koh* if=dkdks ,sfrgkfld 

egÙockjs izdk”k ikuZqgksl~A 
 



UG/CBCS/B.A./Programme/5th Sem./Nepali/NEPPDSE1/2021 

5107 2

(x) usikyh lkfgR;dks fodklek ns[kkijsdk izeq[k i=-if=dkg:dks mYys[k xnSZ frudks 
;ksxnkuckjs ppkZ xuZqgksl~A 

 

(?k) lkfgfR;d i=dkfjrkdks vFkZ Li’V iknSZ ;ldk izÑfrckjs lfcLrkj ppkZ xuZqgksl~A  

  
 DSE-1B 

 Hkkjrh; usikyh lkfgR; j lkfgR;dkj 

 lewg-d 

1. rydk dquS pkjoVk iz”udk mÙkj ys[uqgksl~A 3×4 = 12

(d) *dFkk dqlqe* dfgys vfu dgk¡ckV izdkf”kr Hk,dks gks \ 
([k) *lq/kik* HkUukys ds cqf>UN \  

(x) vxeflag fxfjdk dquS rhuoVk Ñfrg:dks uke ys[uqgksl~A  

(?k) *nl xks[kkZ* lekykspukRed Ñfrdks “kh’kZd *nlxks[kkZ* fdu jkf[k,dks gks \  

(³) *gkL;* fucU/kdks ewy vk”k; ds gks \  

(p) *vrÌr* miU;kldks miU;kldkj dks gqu~ \ mudks tUe dfgys vfu dgka Hk,dks fFk;ks \  
   

 lewg-[k 

2. rydk dquS pkjoVk fo’k;ek fVIi.kh ys[uqgksl~A 6×4 = 24

(d) vxeflag fxjhdks dkO; izof̀ÙkA 
([k) *fcrsdk dqjk* dFkkdks dFkklkjA  

(x) *?kks’kckcq* dFkkdks ?kks’kckcqA  

(?k) jkeÑ’.k “kekZdks lkfgfR;d ;ksxnkuA  

(³) jktukjk;.k iz/kkudks fucU/kxr izof̀ÙkA  

(p) *;kn* dforkdks ewyHkkoA  
   

 lewg-x 

3. rydk dquS nqbZoVk iz”udks mÙkj ys[uqgksl~A 12×2 = 24

(d) :iukjk;.k flagdk dFkkdkfjrkdks ppkZ xnSZ mudks *fcxzsdks ckgqu* dFkkdks leh{kk 
xuZqgksl~A 

([k) Hkkjrh; usikyh dFkkek bUnzcgknqj jkbZdks ;ksxnkuckjs ppkZ xnSZ *jkrHkfj gqjh pY;ks* 
dFkkdks foospuk xuZqgksl~A 

 

(x) yhycgknqj Ns=hdks vkSiU;kfld izof̀Ùkdks mYys[k xnSZ mudks *vr`Ir* miU;kldks ppkZ 
xuZqgksl~A 

 

(?k) Hkkjrh; usikyh dforkdks fodkl ijEijkckjs ,mVk xgfdyks ys[k ys[uqgksl~A  
  

 ——×—— 
 


